> ]

17.

18.

19.

B. Com. (Hons) 2015-2016

Glegp 18w life
(a) amustof (b) necessary to

(c) necessary of (d) important of
We travelied a long distance

. acar

(a? with (bYon (¢ by (d) within
We sel ------- very early to avoid the traffic.

(a) ot (b) on (¢c)in (d) off

One whose name is not knownis

(a) Ambiguous (b) Anonymous (c) Acrimonious (d) None

The meaning of *feeble" is:

(a) Weak (b) Strong (c) Powerful  (d) Gentle
Mark the option which is closedest in meaning to the underlined
He is very fastidious about how he manages his movie collection.
(a) Finicky  (b) Unfussy (c) Arrogant (d) Ignoant

[dentify the correct pair.

(a) Bullock-heifer (b) Bullock-cow (¢) Buck-heifer (d) None

| have not seen him =«----- Friday last

(a) from (h) by (¢) since (d) over

To send an unwanted person out of the country ) (.

(a) Deport (b) Exclude (¢) Expatriate (d) QOstracise

A thing that is not eatable is:

(a) Unedible (b) Indelible (c) Inedible (d) Ineatable
The suffix used for song should be:

(a) ---ster (b) ---ward (c) --- 1sm (d) --- let

Fe travelled one thousand miles ---- four hours

(a) by (b)In (c)at (d) from
When grandfather arrived, we ---=- coffee |
(a) has (h) have (¢c) was having (d) were having
Mr. Singh, ---- | spoke is interested in our plan

(a)to which  (b) about which (c) who (d) to whom
T he key- ~-=--===--="" success is hard work
(a)too (b) of (c)to (d) for

' e is too impatient for tolerating anby delay
(a) To tclerate (b) To tolerating

(c) At tolerating (d) With tolerating

e will mean.
gé;lll?:uﬁ\r:leporzb) To visit someone (¢) To phone (d) To taunt
To word ‘ecstasy’ will mean
(a) excitement (b) exhaustion (€ Gt
Find out the antonym of the wprds in itah
sentences. The construction will not comp
s done by a bunch of drowsy labourers

) mad (d) great happiness
¢s in the following
lete on time of the work
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29.

30.
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B.Com. 2 2015 201,

(a) Sleepy  (b) Lazy (c) Active (d) Alert
You should be considerate ----- your employees
(a) for (b) to (¢) upon (d) on

To beat the air means:

(a) Efforts that are vain, useless

(b) To be satisfied with one"s performance

(¢) To be extremely celieved  (d) To be very happy

Give the synonym for the word ‘Upgrade’

(a) Revalue  (b) Praise (c) Demote (d) Promote
Find out the missing word from the given words in the follow .
sentence;

When [ stood up and looked around I saw beautiful scene.

(a) A (b) An (c) The (d) That
Complete the sentence by using the correct verb form

Every student -------. won a prize

(a) Was (b) Is  (¢) Has (d) Have

Complete the sentence with the appropriate phrasal verb:

She ~----. her old umbrella

(@) Putoff  (b) Threw away (c) Fall out (d) Make out
[f sales are Rs 60.000: Gross profit is 1/3 on cost, purchases ar
Rs. 49,000 and the closing stock is Rs. 9000, The opening stock
(a) Nil (b)Rs. 5000 (c)Rs. 20,000 (d)Rs 49.000
If Rs. 3,000 is the normal profit of a firm Rs. 36,000 is the valuc
of assets and Rs. 12.000 are the habifities pavable Find out the
value not goodwill, normal rate of return being 10%

(a) Rs. 6,000 (b)Rs. 12.000 (€) R5, 8,000  (d)Rs. 20.000
A and B share profit in the ratio of 7-3. X is admiitted as a new
partner entitled on 3/7 share in the firm X takes | /7 share from A
and 2/7 from B. The new ratio of A.B and X will be

(a) 7:3:3 (b)4:2:3 (c) 10:7:5 (d)39:1:30

A and B are partners in a business sharing profits in the ratio o
5:3. They admit C as a partner with Y share in the profits which
he acquires % from A and % from B. He pays Rs. 4,000 as his
share of goodwill. A and B will be credited by:

(a) Rs. 2,5000 and Rs. 1,500  (b) Rs. 2,000 each

(c) Rs, 1,000 and Rs. 3,000 (d) Rs, 3,000 and Rs. 1,000
Balance in forfeited shares accaunt is shown in the balance sheet
under the head of:

(a) Current liabilities and provisions (b) Reserves and surplus
(c) Share capital (d) Unsecured loans
The issue of sweat equity shares is authorized by a special
resolution passed by the company in the:

(a) General Meeting (b) Statutory Meeting
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184 B.Com, 3}

-y Board :vieeting J

0P . (d) Class Meeting
P‘,Cm,um Tek.e.\ed on 15§

ue of shares account i
o . S account 1s show
(a) Liabihities side of the balance sheet o
(b) Assets side of the balance sheet

© Credit side of the profit and loss account
13, Onthe death of a partner

2015-2016

(d) None

the amount of joint |; ICy |
g : joint life policy is
credited 10 the capital accounts of: '

(a) Only the deceased partner
(b) All partners including the deceased partner

4 (¢) Remaining partners, in the new profit sharing ratio (d) None
14,

After the debentures are redeemed, the balance in the sinking
fund account is transferred to

(a) General reserve  (b) Profit and loss account

(c) Capital reserve  (d) Profit and loss appropriation account
X an Y are partners sharing profits in the ratio of 3:2. Z 15
admitted with 1/4" share in profits which he acquires equally
from X and Y. The new ratio will be: ;_
(a)9635 (b)19:11:10 () 3:3:2 (d)4:2:F
If a share of Rs 10 on which Rs. 8 has been called and Rs 6 is
paid is forfeited the share capaital A/c should be debited with:
(a)Rs 10 (b)Rs. 8 (¢)Rs. 6 (d) Rs. 2
When a new partner brings his share of goodwill in cash, the
amount is debited to:
(a) Goodwill A/c (b) Capital A/c of the new partner
(c)CashA'c (d) Capital A/c of the old pamer
38, Example of cash flow from financing activity is:
( a) Payment of dividend (b) Receipt of dividend on investment
(c) Cash received from customer (d) Purchae of fixed asset
39. Income and Expenditure Alc records reepits and payment of:
(a) Revenue nature only (b) Capital nature only
(c) Both revenue and capital nature (d) None of the above
40. Pro-rata allotment of shares means allotment of shares:
(a) Equally amongst the appli.cation
(b) At the discretion of the Directors '
() To all the applicants in proportion to the shares applied for
(dd) Toonly a few celected applicants ]
41. Which of the following are sources of fund’

3S.

36.

37

! Cash collected from debtors 2.Issue of share capital
3. Sale of log-ternm investments
4. Debentures converted into sales

(a)12and) (b)23andd (@1and? b'(daialnd:;
4 WhP}\ chares are forfeited, capital account is debited Dy X
‘a) fofefeitéd account (b) Called up amount on shares
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(¢) Paid up amount on shares (d) Amount gt (:SP'““‘? ‘f“c‘
43. Proprietary ratio relates the shareholders funds —
(a) Total assets (b) Profit ~ (c) Loss ick liabilities is R:
44. When quick ratio is 1.5:1 and the amount of quick li S
20,000. find the amount of quick assets
(a) Rs. 20,000 (b) 30.000 (c) 40,000 (d) 50,000 S
45. Giventhat  (Current ratio = 2.5, Acid-test ratio 5
Net working capital  + Rs. 60,000
The value of current liabilities will be 000
(a) Rs. 15,000 (b) Rs. 40,000 (c) Rs. 60,000  (d) 100,
46. Unity of command is violated under: o
(a) Line organization (b) Line and staff organization
(c) Functional organization (d) None of these
47. Capital gearing means:
(a) Proper capitalization (b) Watered capital .
(c) Fixation of proper ratio betwee-: two or more types of
securities (d) Trading on equity
48. The first stock exchange was set up in India in:

(a) Calcutta  (b) Bombay  (c) Delhi (d) Madras
49. Enterport trade means:

(a) Import trade (b) Export trade

(c) Foreign trade (d) Goods importec for re-export

50. State trading corporation of India was established
(a) By a Special Act of Parliament
(b) Under the Companies Act, 1956, as a Private Ltd: Co.
(¢) Under the Companies Act 1956, as a Public Ltd. Co.
(d) As departmental undertaking

51. Which is a base of green marketing?
(a) Greenhouse gas reduction market  (b) Capital flow
(c) Programme (d) Product

52. Recently India launhed its own payment gateway ‘RuPay’
developed by NPCI. NPClI stands for
(a) Number Payments Corporation of India
(b) National Payroll Corporation of India
(c) National Payments Corpnration of India (d) None

53. Most favoured nation clause was introduced by:

(a) SAARC  (b) GATT (c) ADB (d) IBRD
34.  The organization structure of ASEAN includese-.......

(a) Standing Committee " (b) Secretariat

(¢) Economic Ministers (d) All of these
55. Maruti Udyog Ltd. Has been renamed as ------

(a) Alto (b) Fiat

(¢) Maruti Suzuki India Ltd. (d) Hyundaj
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60.
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63.

64,

65.

66.

B.Com. §
Foreigh Exchange Regulation Act was passed in
() 1973 _(M 1974 (¢) 2009 |
nOW JONES is the price index of
.21 New York Stock Fxchange (b) Company

e (d) Delhi

Which (;‘fqlhe tollowing tvpes of accounts are known as *Demat
Account !

(a) Accounts which are zero balance accounts
(b) Accounts which are opened to facilitate repayment of a loan
taken from the bank. No other business can be conducted from there.
(¢) Accounts in which shares of various companies are traded in
clectronic form

(d) Accounts which are operated through internet banking system
The liability of shareholders of a public company is limited to the:
(a) Paid up value of shares (h) Nominal value of shares

(c) Extent of their private shares (d) Amount called up

Financial inclusion means provision of -=-----

(a) House at affordable cost to persons not yet given the same
(b) Ration at affordable cost to persons not yet given the same

( ¢) Finanacial services namely payments, remittances, savings, loans
and insurances at affordable cost to persons not yet given the same
(d) Food at affordable cost to persons not yet gln-'eln the same
Which of the following is nota “MAHARATNA" status having

company
(a) Cpoal' India Ltd. (b) SAIL  (¢) ONGC (d) BHEL

Cement Industry is an example of:

etition (b) Monopoly -
Ez)) E;Ii':)c;(ﬁ;mp L (d) Imperfect competition

20152016

(d) 2011

F X for Y= _ . ’

l(\;;{(.lf;?lfef of X)-(Price of Y) (b {Prlce’?f.‘()x(Pnce of Y)
priceof X
S exyPriceof Y) (@) ooy
El"l-)\ ( rea which lies under the demand curve for a given good
¢ area W
ures 1 Cost

;gial\sflarginal Utility ‘(-z; r;;g"&i:my |
(<) Marg_inall Pr?ﬁ[wn a5 soft loans whindow of World %axk is
T he institution kne (c) IFC (d) Ml

(a) IDA b) IMF oy’ is possible f two markets have

‘Discriminating monop(b) Rising and declining cOSt CUrves

(@) Rising cost CArvES f demand

(c)Different elgsncn
() Equal elastic!
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67.

68.

69.

10.

71.

Ak

73.

74,

13.

76.

1.

78.

B.Com. 6 2015-),
‘e rate system:
scapital account add to zero

dually be equal to zero
ket forces

In a freely floating exchan
(a) The current accougr n_nv’
(b) Each account can indivi iy b2
(c) Exchange rate i determine by e
(d) All the above statements are rect ished by
“World Economic Outlook ™ report | gl . e D
(a) IMF (b) Word Bank (c)R

0
What is the meaning of right ISSU€

(a) Company offers new shares 0 I
(b) Securities are not issued'tg existin .
(c) Company sells the securities (0 some

(d) None of these ‘ bili v |
. - ility to generate earnn,
Which ratio is used to assess a business a y 0z e £

as compared to expenses over a specmgd_tlme perio
(a) Profitability ratio (b) Activity rafio.
(c) Liquidity ratio (d) Solvency rm_'?f .
If U={a,b,c,d,e,f,g,h} then complement of set A ) g.h.ag s
(a) {ab.c.d} (b) {bcdel (o) {cdef) (d) ld.e.!,g}
A.M. and G.M. of two numbes are 10 and 8 respectively. the
numbers are: '

(a) 2,18 (b) 3,7 (c) 4,16 (d) 6,14
Value of (98)’ is

(a) 9039207668 (b) 9039227968

(c) 9039207968 (d) None

lff(x)=;§; then (fo fo fo ..... of ) is 19 times
X x \19 19x
@ ()" 0= (d) x
The trangel with vertices (4,0), (-1,-1), (3.5) is
(a) Isoceles and right angled  (b) Isoceles but not right angled
(c) Right angled but not isosceles
(d) Neither right angled not isosceles
A and B are two mutually exclusive events, then P (A [1B) equals
(2)0 (b) 18 (c) 1/4 (d) 172
For comparing yearly changes in price level, the suitable index to
be used is:
(a) Fixed base index (FBI) with average price as base
(b) Fixed base index (FBI)
(c) Chain base index (CBI) (d) None of these
Which of the following is true if the coefficient of correlation
between two variables X and Y is zero
(a) Covariance of the variable X and Y zero
(b) Covariance of the variable X and Y is positive
(c) Coveriance of the variable X and Y js negative

ts existing shareholders

g shareholders al all
lected institutions
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l ~ B.Com. 7

J‘ ' . ) y .
( “hl"‘h of the h\“()me‘ s a relative | 1o
y B ) = A . n(‘(]‘;l“ n
Ly yvanance \ sure of dispere
) var (b) Standarg deviatior dispersion
ahon

-y Range T
) 'c%nhinﬂ hree (d) Coefficient of variatio
. mbl -‘|' ‘I 3 three blue balls and wg e ..h ln
obability g - ) ireen balls [he
p!ﬁula y that all three by« drawn in succecc: , | [he
without teplacement are blue i iccession from the bag

('J) 1"0 (b) ‘;fln -
/ (c) 215 (d) 172

If EARN 1s written as GCTp ooy s
code”? S GCTE how will NEAR be written in the

(\;\lCTGP (b) GPTC (¢) PGCT (d) PCGT
X hich of the fol‘lowmg diagrams indicate the best relations
etween boys, girls and students |

o © ®) @
% o (D

If = means -*, "+ means, "X, "~ means = " and "X’ means '~
then 64x4+ ~-4-2="

(a) 104/20 (h) 259 (c) 82 (d)None of these

In the foli. - g series find the missing term 15.30.60.105,165.”
(a) 210 (b) 220 (c) 230 (d) 240

In the following series find the missing term DKM, FJP, HIS,
JHV.?

(a) HOY (M 1GZ (o) 1GY (d)LGY

(f DELHI is code as 73541 and CALCUTTA as 82589662 the

code for CALICUT will be
(a) 5279431 (b) 5978213 (c) 8251896 (d) 8543691
Bantu walks southward, then takes a half right turn and then left

turn. In which direction is he walking now?
(a) South (b) East (¢) South-West (d) South-East

Find the missing number in the series 49.16,25.36.9.7

(a) 64 (b) 52 (c)45 (d) 43 |

Spot the odd one out from the following question=

(a) Water (b) Jelly(c) Coffee - (d) Ml|k. - :
Find the number which when added to self 13 times, gives 11

(a) 7 (b) 8 (c)9 ()11

D was established in:
2’;3}6‘;”‘” (b) V plan .(c) \{l plan (d) VIiI plan
The main source of India,s national income is

(a) Industry (b) Agriculture (c) Forestry (d) None
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d economy s )

YU The man features ot imie
nd centrally Bl

() Combimaton of fice muarhet cconoiny d -
SCONVIMY
() I‘m\lvm'lmn i carried out by prov
government  (¢) Both the above

O Discovery of India is written by -
(a) /\h.h.i Kalam Azad (h) [n R.ncndl.ll Prasad
(¢) 't Jawahar [ al Nehru (d)yc.v _ Rill{ldn

9% Who was the Deputy Chairmanol l‘|a§|1l1||1g( ommission”
(@) Prime Minister (b) Finance Ministr
() Commerce Minister (d) None

96, Who is the called the “Bank of issue™”

ate indwiduals ang
(d) None of abg,,

(a) RBI (b) SBI () IDBIid) I(‘l('l |
97 Which of the tollowing 1s a better measure of economic

development

(1) Employment (b) Size export

(¢) Rural consumption (d) Nauonal income
98, President of India is elected by

(@) Vice President and Members of Parliament

(0) All the Members of Parliament

() All the Members of Parliament and State [ egislaiire

(d) Llected Members of Parliament and State Assembhes,
09 SEBI s a:

(a) Statutory body (b) Advisory body

(¢) Constututional body (d) Non-statutory body
100. Which of the following country is not a member of Furopean

Union
(a) Switzerland (b) Malal
(¢) Poland (d) The Czeck Republic

Answers: B.Com. 2015-16

1-b, 2-c, 3-d, 4-b, 5-a. 6-a. 7-a, 8-c, 9-a,10-c, 11-a, 12-b, 13-d, 144
I5-c, 16-a, 17-b, 18-d, 19-c, 20-b. 21-a, 22-d, 23-a, 24-c. 25-b, 2%
b, 27-a, 28-d, 29-d. 30-c, 31-a, 32-a, 33-b, 34-a. 35-b, 36-b. 37«
38-a, 39-a, 40-c, 41-d, 42-b, 43-a, 44-b, 45-b, 46-c. 47-d, 48-b. 4% |
d, 50-b, S1-a, 52-c, 53-b, 54-d, 55-c, 56-a, 57-a, 58-c, 59-b, 60<
61-d. 62-d, 63-d, 64-d, 65-a, 66-c, 67-c, 68-a. 69-a. 70-a. 71-b. 7>¢

73-c, 74-a, 75-a, 76-a, 77-c, 78-a. 79-d, 80-a. 81-c, 82-d. 83-¢. g

85-d, 86-c, 87-c, 88-a, 89-b. 90-b, 91-c, 92-b.93-¢c. 94-¢, 95-d. "%

97-d, 98-d, 99-a, 100-a
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